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= A 39,856 65,807 93,166 16,046 12,159 11,429 12,035 13,939 15,077 14,882 13,997
E=EE HESE 39,856 65,807 93,166 16,046 12,159 11,429 12,035 13,939 15,077 14,882 13,997
Efanh< - - - - - - - - - - -
HHHE T
(m3) 44
100,000
90,000 | Tlﬁ/?_%l
80,000 | MAZ|| 7
70,000 |
60,000
50,000
40,000 |
30,000 |
20,000
£EE m
10,000 | m
’ [ [
S40 S50  S60 H20 H21 H22 H23 H24 H25 H26 H27
N T
(1)
S40 S50 S60 H20 H21 H22 H23 H24 H25 H26 H27
og EEE 593,133 70412 32,255 27,890 25,873 25,888 23,182 23,648 22,528 20,880 18,210
s HIAS 3,277 19,815 6,684 145,809 150,983 154,848 154,784 150,154 148,962 159,136 165,917
s 596,410 90,227 38,939 173,699 176,856 180,736 177,966 173,802 171,490 180,016 184,127
E Aﬁ%% 596,376 90,201 38,788 173,006 176,389 180,110 177,136 173,104 170,993 178,260 183,294
™ M= 34 26 151 693 467 626 830 698 497 1,756 833
) MiR.MRED. B G
Rk
(t)
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400,000 |
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00,000 m tER
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EO_HEERNMIEDHEF (Bf40E~TFEfK274)

(M/kg)
I H S40 S50 S60 H20 H21 H22 H23 H24 H25 H26 H27
ANRY b 2,056 3,381 4,237 4,063 3,363 2,854 2,338 1,929 1,413 2,079 3,521 %1
HLULNV=ITF 370 850 1,114 1,109 1,006 936 935 927 979 1,024 1,031
HHZ 667 762 689 407 388 372 355 294 343 401 425
ADE-IT - 589 610 301 248 233 228 246 243 250 260
Vixt=lt 518 765 795 455 445 426 371 367 390 404 440 %2
SELHL - - - 533 523 490 416 407 457 449 449
F=IT - - - 673 679 751 656 638 652 684 648
Ty ¥ - - - 569 617 611 504 439 504 509 477
E3S) = b) 1,591 8,413 15,076 40,956 30,862 16,175 31,654 30,667 33,208 30,609 26,243
GE) 1 ELLM=1HZ LBl Dl T, $40,50,604F (3B 5 - 52 - 7 F - KR, X MET
H20FE LIMZ (TR R, #E D& TIEOEF Mg DHRTY.
(BZLUM= T S O (4 (F 3R R o R ENFE T35 O £ T 4 fili4g.)
2.840,50,60FE DUz T X SRHELHENEENTLVS.
(F/kg) ARyl b (F/ke) HELULM=T
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L * | * ‘\‘\0—0—0——*"’_’
4,000 . \\// 1,000 o
2000 - & 500 |
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S40 S50 S60 H20 H21 H22 H23 H24 H25 H26 H27 S40 S50 S60 H20 H21 H22 H23 H24 H25 H26 H27
(FM/ke) EIRY=dba (M/kg) Ty X
1,000 1,000
o | — o[
600 600 '/._-‘\’\’/*—*\0
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200 200 L
0 L L L L L L L L L L L 0 1 1 1 1 1 1 L L L 1 1
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60,000
400001 \\/H/‘\O\‘
20,000 o
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S40 S50 S60 H20 H21 H22 H23 H24 H25 H26 H27
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EOUNDERAMREYERNMISDHTE  (mEiofe~Fm274)

(H/kg)

IEH  Bf1 S40 S50 S60 H20  H21

H22 H23 H24 H25 H26 H27

=IO HM/keg 41 82 134 173 213

194 200 182 191 195 191 S EEHAEME

Hhay M/kg 1,153 4,476 7,199 5,048 4,276

RRAPREFETNIS
4,453 5,125 5,792 6,212 7,353 6,502 iR

£55L H/kg 4,760 24,650 26,330 49,000 48,000

46,200 48,300 46,200 46,920 47,520 47,520 HEEEHEME

dtEEs B/ER 353 1,950 2,133 1,608 1,608

1,608 1,608 1,608 1,608 1,608 1,608 HEN5E{Hitk

i M A/m?® 29,867 110,460 85,000 80,000 80,000

80,000 80,000 80,000 80,000 80,000 80,000 s=#tffit&

Rk (B) FA/ke 27 92 128 130 130 127 129 142 166 184 185 4 FEE MM
TR BT
(F1/ke) f=lFmC (M/ke) ha
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